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You did great! Now on the next part, you are going to write an
addition sentence out of the worded addition sentence below. Then
you will solve for the sum. This will prepare you for your next task.

|‘ 34 567 plus 12 421 ||
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25 112 increased by 22 224
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81 443 more than 15 331
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The sum of 25 345 and 12 032
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17 031 added to 32 046
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81 403 plus 12 534
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21 546 increased by 42 253
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63 234 more than 21 513
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The sum of 11 612 and 15 346
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54 112 added to 10 453
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Answer Key:

Worksheet # 9:

1.34 567 + 12 421 = 46 988

2.25112 + 22 224 = 47 336
3.15331+81443 =96 774

4.25345+12032 =37 377
5.32046 +17 031=49 077
6.81403 +12 534 =93 937
7.21546 + 42 253 = 63 799
8.21513 + 63 234=84747
9.11612 + 15 346 = 26 958

10. 10 453 + 54 112 = 64 565
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